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Abstract. In the paper the asymptotic behavior of the correlogram estimator of covariance function
of random noise in nonlinear regression model is investigated. A functional theorem in the space of
continuous functions on asymptotic normality of the estimator is proved.
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X(t) = g(t, θ) + ε(t), t ∈ [0,∞),

�� g : [0,∞)×Θγ → R
1 � ���������� �������� 
� ������	� ��� ������
��� ����
�	��

θ = (θ1, . . . , θq) ∈ Θ ⊂ R
q� Θ � ��
����� ������	� ������ 
������� Θγ =

⋃
‖a‖<1(Θ+

γa)� γ > 0 � �����  ����! ε(t)� t ∈ R
1� � ���������" #�
� 
� ����������$ ���	����"

�
����

��� ε = ε(t)� t ∈ R
1� � ��"���" ����������" � ��������
� ������	� ��
� 	�


�"�� ������� %
���& �	���������" ����������" ������� ������" �� "
����'
�����
� ����	��� (Ω, F, P)� � �������
 �������
 	� ������	�� ��	��������
���������"��� ������$� B =

{
B(t), t ∈ R

1
}
�

( ������� ��
� B ∈ L1

(
R

1
)
� 	� B ∈ L2

(
R

1
)
� ������ ε 
�$ ��
����� 	� ����'

������ ����	������ 
������	� f =
{
f(λ), λ ∈ R

1
}
� 	��	� f ∈ L2

(
R

1
)
� )� 	�	�����	�

����#�����

‖B‖22 =
∫ ∞

−∞
B2(t) dt = 2π

∫ ∞

−∞
f2(λ) dλ = 2π‖f‖22.

*�
� B ������
�� 	� ������$ ���� � ���������� ���������"��+ ������+ �� ���'
�	��������
� {X(t), t ∈ [0,∞)}� ��� �
� ����
�	� θ ������$ �	�	�� ������� ����

(������ ��"
��#�, ������	�� ������
��� ����
�	�� θ ∈ Θ �� ��	������ ����	�'

������ [0, T ] ������$	��� ����'���" ���������" ���	�� θ̂T = θ̂T (X(t), t ∈ [0, T ]) =

���� ����������	 
��
��� ���		��������� H�
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(θ̂1T , . . . θ̂qT ) ∈ Θc �Θc � ��������	 Θ
� �
	 	����

LT (θ̂T ) = min
τ∈Θc

LT (τ), LT (τ) =
∫ T

0

[X(t)− g(t, τ)]2 dt.

� 	����� ������ B� �����	����� �� ������ θ̂T � ����� ��	�� ����
������� �������

���� �� �����
���	�� ����������� X̂(t) = X(t)− g(t, θ̂T )� t ∈ [0, T + H ]� � ����!

BT (z, θ̂T ) = T−1

∫ T

0

X̂(t + z)X̂(t) dt, z ∈ [0, H ], �"


H > 0 � #�������� $��
�%

&��������� '� BT (0, θ̂T ) = T−1LT (θ̂T ) ( ������) ��*���+�� ��������� ���������
σ2 = B(0) ����������� ������� ε� � ��* $�� 	�

BT (z, θ) = BT (z) = T−1

∫ T

0

ε(t + z)ε(t) dt, t ∈ [0, H ], �,


( ����
������) ������� ε%
-�������$��* ���������$��* ����
�� �� ��������* �� � ��� ���������$��* ����

�
�� �������� ������ BT (z, θ̂T ) �������� � ������� ."� ,/% 0 ����* ������ ��������

���������$�� �����
 ���� ����
�������� ������ BT (z, θ̂T )%
&� ����� A1 ���
���(� '� �������
� �"
 � �,
 ����� ����
	���� 	� �������
�

1������ ���������� �� ���(�����	�� ����������� ��������% 2�
 + ����� �� �������
�
�� z ( ������������ �%�% ��������� �� �������� [0, H ] ����%� ������
�� .3/4.5/
%

,% ����� �� �	
��
����

1���
	���� ������

XT (z) = T 1/2
(
BT (z, θ̂T )−B(z)

)
= YT (z) + RT (z), z ∈ [0, H ],

��

YT (z) = T 1/2 (BT (z)−B(z)) ;

RT (z) = T−1/2I2T (z) + T−1/2I3T (z) + T−1/2I4T (z),

I2T (z) =
∫ T

0

(g(t + z, θ̂T )− g(t + z, θ))
(
g(t, θ̂T )− g(t, θ)

)
dt,

I3T (z) =
∫ T

0

ε(t + z)
(
g(t, θ̂T )− g(t, θ)

)
dt,

I4T (z) =
∫ T

0

ε(t)
(
g(t + z, θ̂T )− g(t + z, θ)

)
dt.

6������ YT � I2T � I3T � I4T � � � ���� XT �� RT � ������ ����
	���� 	� ���������
�
������ � ��������� �������� (C[0, H ], B)� B � σ��
����� ����
���� ���������
�������� ����������� #�����* C[0, H ]% 7���* Z � ��� �	��* �� �������� ��'� ���
�������� �
�������% 1������
 Z ( *����������) ����) P = PZ−1 �� (C[0, H ], B)%

-���	 {UT } ���������� �
������� �����(� �	 �� �������
�� ��� T → ∞ �� ���

��������� �
������ U � �������� C[0, H ] ���+��� UT
D→ U
� 	�'� �������
� PT

�
������� UT �
���� �����)� �	 ��� T → ∞ �� �������
� P �
������ U .8/% 9
	
��������� �� �������
�� ���������� ��
�$�� ������ ��������������� �� � ����
�����$���	%
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����	
��� ��
����
��	�� ��
	�� ��

������� ��������	
��� 
��

ρ(z1, z2) =
(∫ ∞

−∞
f2(λ) sin2 λ(z1 − z2)

2
dλ

)1/2

,

√
ρ(z1, z2) =

√
ρ(z1, z2), z1, z2 ∈ R

1.

����� H√ρ(ε)� ε > 0� � ��	
���� ��	
���� ������� [0, 1] �������� ��������	
��
��
√

ρ�

���
∫
0+

H√ρ(ε) dε < ∞�

���� f ∈ L2(R1)� 	� �
� T →∞ ��� ���� z1, z2 ≥ 0

E YT (z1)YT (z2)→ b(z1, z2) = 4π

∫ ∞

−∞
f2(λ) cos λz1 cosλz2 dλ .

����� Y = {Y (z), z ∈ [0, H ]} � �������  ��	
������ !�"����#��� �
� �� $ �����

�� ����% &"�� �'% b(z1, z2)� z1, z2 ∈ [0, H ]� (��� ��� �����������
�� 
�$������ �
��
 ���� YT ���)�� $)�!�%	#�� �
� T → ∞ �� ����������� �����������
��� 
�$�������
!�"����#��!� �
� ��" Y 
*��

���	"���� 
�$"�#	�	 �	
����� � 
�� 	��
��� +�,�-�

������� �	
	 ����� ���	
�
	 ��	�� A1
 A2� �	�� ��� �������	�	 H > 0
.�/ Y ∈ C[0, H ] ��
��
.��/ YT ∈ C[0, H ] ��
�
 T > 0�
.���/ YT

D→ Y �

0)�����	# $� 
�$������� � �
��	�
� C[0, H ] ��
������� ��
���!
�� ����������
����� ��������# � 
,��

�
����"%�� 	��
��" 1�-� �&�
�"�%'�� �������� ��� ��� &��	� ���� ' ��
�&
��
$�����% ��� C[0, H ] 	��
���% ,�- .
+� �	�
� ,2�/� 3�� &"�� �� a(z)� z ∈ [0, H ]� )"����
����	� ‖a‖ = supz∈[0,H] |a(z)|�

���� �	
	 ���	 YT
D→ Y �

‖RT ‖ P→ 0, T →∞. .4/

�	 � XT
D→ Y �

(���� ������ ��� �	
������ &"�� �����#��5 	��
��� �
� �����	�	���" ��
�
���#���	# �
� ��" XT 	
�)� �����	� ���������6���� .4/�

������� �����#�� ��	
�)��� ���  #�!� "���� 7
��"�	���� �� &"�� �� 
�!
���5
g(t, τ) ����� ����
�
��� ��&�
�� ������ $� τ ∈ Θγ �
� ������" t ≥ 0� �
����"  �
������� ����
�
��� $� �"�"����	% $������� 7�$������

gj(t, τ) =
∂

∂τj
g(t, τ), gij(t, τ) =

∂2

∂τi∂τj
g(t, τ),

d2
iT (τ) =

∫ T

0

g2
i (t, τ) dt, d2

ij,T (τ) =
∫ T

0

g2
ij(t, τ) dt,

dT (τ) = diag (diT (τ), i = 1, . . . , q) .

8"���� �����	�� �� limT→∞T−1/2diT (τ) > 0� τ ∈ Θ� i = 1, . . . , q�

��� dT (θ)
(
θ̂T − θ

) D→ ξ ∼ N(0, K)�
3��	�	�� "���� �����	�	����5 ��
���#���	� � ���� ������6�� ����
�	�� ���	��

	#�� � 
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�� �� �� ������ � �� �� 	�
�������

������ supτ∈Θc |gj(t, τ)| ≤ Gj(t) ��� ������ 	�
�����	�� 
�	���� Gj(t)� t ≥ 0� 
���
����

DjT

djT (τ) ≤ cj(τ) <∞� τ ∈ Θ� �� D2
jT =

∫ T

0
G2

j (t) dt� j = 1, . . . , q�

����
dj,T+H(τ)

djT (τ) → 1� T →∞� ��� τ ∈ Θ � ���������� 
������	��� H > 0�

��� supτ∈Θc |gij(t, τ)| ≤ Gij(t) ��� ������ 	�
�����	�� 
�	���� Gij(t)� t ≥ 0� ��
Dij,T

diT (τ)djT (τ) ≤ cij(τ)T−1/2� τ ∈ Θ� �� D2
ij,T =

∫ T

0 G2
ij(t) dt� i, j = 1, . . . , q�

���	����� gjT (λ, τ) =
∫ T

0 eiλtgj(t, τ) dt� λ ∈ R
1�  � ����!	���" ���	#�����∫ ∞

−∞
|gjT (λ, τ)|2 dλ = 2πd2

jT (θ).

$������ ���%" ��� 	�
(
R

1, B1
)

μjT (dλ, τ) =
|gjT (λ, τ)|2 dλ∫∞
−∞ |gjT (λ, τ)|2 dλ

, T > 0.

��� &��%� ��� μjT (τ) ������ �����'���� 
�� T → ∞ �� ���� μj(τ)� τ ∈ Θ� j =
1, . . . , q�

(��� μj(τ) = μj(dλ, τ) 	�����'���� �
�������	�" ����" 
�	���) gj(t, τ) *�����
	�
������� +,� -./�

	�� supλ∈R1 |λ|1+δ
f(λ) ≤ c(δ) < ∞ ��� ������� δ ∈ (0, 1] �

0���� A3 ' ������	��" ��� ����	�		� ����� A2 *+1� ����� 232./�
���	�����

ΨjT (z1, z2; τ) =
∫ T

0

(gj(t + z1, τ) − gj(t + z2, τ))2 dt,

�
� d−2
jT ΨjT (z1, z2; τ) ≤ cj(τ) |z1 − z2|2� z1, z2 ∈ [0, H ]� cj(τ) < ∞� τ ∈ Θ� j =

1, . . . , q�

4����� ��������� 5�� ����� B1(i)� B2� B4 ����	������� ��� ������	�� �����
��� T � T > T0�

��
���� ���� ���� �������� 	
��� A1� A3� AB� B1 � B4� 
�

XT (·) = T 1/2
(
BT

(
·, θ̂T

)
−B(·)

) D→ Y.

 �������		�� ���� 2�3� ������		� ������� ������'���� � ������		� ����� ����

���� ���� �� 	
�� AB� B1

T−1/2 ‖I2T ‖ P→ 0, T →∞.

���������� $����������"�� 
��	���		�

ΦT (τ1, τ2) =
∫ T

0

(g(t, τ1)− g(t, τ2))
2 dt,

��'��

T−1/2 ‖I2T ‖ ≤ T−1/2Φ1/2
T

(
θ̂T , θ

)
Φ1/2

T+H

(
θ̂T , θ

)
,

T−1/2Φ1/2
T

(
θ̂T , θ

) ≤ T−1/2

⎛⎝ q∑
i,j=1

∫ T

0

Gi(t)Gj(t) dt
∣∣θ̂iT − θi

∣∣∣∣θ̂jT − θj

∣∣⎞⎠1/2

≤
q∑

j=1

DjT

djT (θ)

(
T−1/2djT (θ)

∣∣θ̂jT − θj

∣∣) P→ 0, T →∞.



����������	� 	�
����	
��� ��
����
��	�� ��
	�� ��

� ������ ���	
 ��
 �	���
���� Δ > 0 � T > T0(Δ)

Φ1/2
T+H

(
θ̂T , θ

) ≤ q∑
j=1

Dj,T+H

dj,T+H(θ)
· dj,T+H(θ)

djT (θ)

∣∣∣djT (θ)
(
θ̂jT − θj

)∣∣∣
≤ (1 + Δ)‖c(θ)‖

∥∥∥dT

(
θ̂T − θ

)∥∥∥ ,

�� c(θ) = (cj(θ))
q
j=1� �

���� ���� �� ���� A1� A3� AB� B1 � B3

T−1/2 ‖I3T ‖ P→ 0, T →∞.

	��
�
��
� ����� B1(i)
 B2(i) ������
��� ������	���� ����	�	 ������� �� �����
����� T−1/2I3T (z) � ��������

T−1/2I3T (z) =
q∑

j=1

d−1
jT (θ)

∫ T

0

ε(t + z)gj(t, θ) dt
(
T−1/2djT (θ)

(
θ̂jT − θj

))
+

1
2

q∑
i,j=1

d−1
iT (θ)d−1

jT (θ)
∫ T

0

ε(t + z)gij(t, θ∗T ) dt

× diT (θ)
(
θ̂iT − θi

) (
T−1/2djT (θ)

(
θ̂jT − θj

))
=

∑
1T

(z) +
∑
2T

(z), ‖θ∗T − θ‖ ≤ ‖θ̂T − θ‖.

 !"

#����
���� ���� ���������� ��������� ���$���

ξjT (z) = d−1
jT (θ)

∫ T

0

ε(t + z)gj(t, θ) dt, z ∈ [0, H ], T > 0, j = 1, . . . , q.

�� 	���� B3 ��� T →∞
BjT (z1 − z2) = E ξjT (z1)ξjT (z2)

= d−2
jT (θ)

∫ T

0

∫ T

0

B(t− s + z1 − z2)gj(t, θ)gj(s, θ) dt ds

= 2π

∫ ∞

−∞
eiλ(z1−z2)f(λ)μjT (dλ, θ)

→ 2π

∫ ∞

−∞
cosλ(z1 − z2)f(λ)μj(dλ, θ) = Bj(z1 − z2), z1, z2 ∈ [0, H ].

����� %����
 ��� ����%��������� ��������� ���$��������� ��	��������� ���$��	 ξjT

���������
 �� ����������& ����%���������& ���������� ���$��������� ��	���������
���$��	 ξj = {ξj(z), z ∈ [0, H ]} � �������$����� �	��$�'� Bj(z)� (� ����	���'��

)� ���$��� ξj 
 j = 1, . . . , q
 ' ���������������

*������� �� 	���� A3 ��
 j = 1, . . . , q

E (ξj(z1)− ξj(z2))
2 = 2 (Bj(0)−Bj(z1 − z2)) ≤ 21−δπc(δ)|z1 − z2|1+δ,

z1, z2 ∈ [0, H ],

�� ���$��� ξj ' ������������ ���� �� �������� +����������  ����
 ���������
 ,-./"�
� ������ ���	
 ��
 δ ∈ (0, 1] �� 	��� ���� ��
 T > T0

E (ξjT (z1)− ξjT (z2))
2 = 2 (BjT (0)−BjT (z1 − z2))

≤ 22−δπ

(∫ ∞

−∞
|λ|1+δf(λ)μj(dλ, θ) + 1

)
|z1 − z2|1+δ.



�� �� �� ������ � 	� 	� 
��	��
���

����� �����	 ξjT
D→ ξj 	 j = 1, . . . , q	 
 ���
���� C[0, H ]	 � ��� 

�� �������
��� ��

C[0, H ] �����������
 ϕ �������� ϕ(ξjT ) ���� �������
� �� ��������� ϕ(ξj)� �������	

‖ξjT ‖ D→ ‖ξj‖	 j = 1, . . . , q	 � ���
� ����

‖Σ1T ‖ ≤
q∑

j=1

‖ξjT ‖
(
T−1/2djT (θ)

∣∣θ̂jT − θjT

∣∣) P→ 0. � �

!�����" ������� 
���
∑

2T (z)	 z ∈ [0, H ]	 ��#���$�%
� 
�������&

√
2

T 1/2Dij,T

diT (θ)djT (θ)

(
(2T )−1

∫ 2T

0

ε2(t) dt

)1/2 ∣∣∣diT (θ)
(
θ̂iT − θi

)∣∣∣ (T−1/2djT (θ)
∣∣θ̂jT − θj

∣∣) ,

�� �� ���
� B2
T 1/2Dij,T

diT (θ)djT (θ)
≤ cij(θ).

'��� �%���	

(2T )−1

∫ 2T

0

ε2(t) dt
P→ B(0), T →∞,

���� (�

E

(
T−1

∫ T

0

(
ε2(t)−B(0)

)
dt

)2

= 2T−2

∫ T

0

∫ T

0

B2(t− s) dt ds = O
(
T−1

)
.

!�#�	

‖Σ2T ‖ P→ 0, T →∞, �)�

� �����%��� ���� 
����
�$ � ���*�)��
�

���� ���� �� ���� A1� AB� B1� B2� B4

T−1/2 ‖I4T ‖ P→ 0, T →∞.

���	
	���
 ����+���

T−1/2I4T (z) =
q∑

j=1

d−1
jT (θ)

∫ T

0

ε(t)gj(t + z, θ) dt
(
T−1/2djT (θ)

(
θ̂jT − θj

))
+

1
2

q∑
i,j=1

d−1
iT (θ)d−1

jT (θ)
∫ T

0

ε(t)gij(t + z, θ∗T ) dt

×
(
diT (θ)

(
θ̂iT − θi

)) (
T−1/2djT (θ)

(
θ̂jT − θj

))
= Σ3T (z) + Σ4T (z).

,��������� ���� �������
�� ���
�

%�� �����
�

ηjT (z) = d−1
jT (θ)

∫ T

0

ε(t)gj(t + z, θ) dt, z ∈ [0, H ], T > 0, j = 1, . . . , q.

-�$�� ��� z1, z2 ∈ [0, H ]

E ηjT (z1)ηjT (z2) = d−2
jT (θ)

∫ T

0

∫ T

0

B(t− s)gj(t + z1, θ)gj(s + z2, θ) dt ds

= d−2
jT (θ)

∫ T+z1

z1

∫ T+z2

z2

B(t− s + z2 − z1)gj(t, θ)gj(s, θ) dt ds,



����������	� 	�
����	
��� ��
����
��	�� ��
	�� ��

������� ∫ T+z1

z1

∫ T+z2

z2

=

(∫ T

0

+
∫ T+z1

T

−
∫ z1

0

)(∫ T

0

+
∫ T+z2

T

−
∫ z2

0

)
.

�	
���� 
��
����∣∣∣∣∣d−2
jT (θ)

∫ T

0

∫ T+z2

T

∣∣∣∣∣ ≤
(∫ T+z2

T

∫ T

0

B2(t− s + z2 − z1) dt ds

)1/2

×
(

d−2
jT (θ)

∫ T+z2

T

g2
j (s, θ) ds

)1/2

≤ H1/2‖B‖2
(
d−2

jT (θ)
(
d2

j,T+H(θ)− d2
jT (θ)

))1/2

→ 0

�� ����� B1(ii)�
��� ���� d−2

jT (θ)
∫ T+z1

0

∫ T

0 → 0� ������
���∣∣∣∣∣d−2
jT (θ)

∫ T

0

∫ z2

0

∣∣∣∣∣ ≤ H1/2‖B‖2djH(θ)d−1
jT (θ) → 0, d−2

jT

∫ z1

0

∫ T

0

→ 0.

���
 ���������∣∣∣∣∣d−2
jT (θ)

∫ T+z1

T

∫ T+z2

T

∣∣∣∣∣ ≤ HB(0)d−2
jT (θ)

∫ T+H

T

g2
j (t, θ) dt → 0,

∣∣∣∣∣d−2
jT (θ)

∫ z1

0

∫ T+z2

T

∣∣∣∣∣ ≤ HB(0)djH(θ)d−1
jT (θ)

(
d−2

jT (θ)
∫ T+H

T

g2
j (s, θ) ds

)1/2

→ 0,

d−2
jT (θ)

∫ T+z1

0

∫ z2

0

→ 0, d−2
jT (θ)

∫ z1

0

∫ z2

0

→ 0.

����� ������

E ηjT (z1)ηjT (z2) = BjT (z1, z2) + ojT (1), ojT (1)→ 0, z1, z2 ∈ [0, H ],


 ��
 ��
��
����
��
 ������
�� ���	
�
� ηjT ��
������� �� �
����
��� ��
��
����
�!
�� ������
�
� ���� �
�
�
���� ���	
�
� ξj � j = 1, . . . , q "���� ���
�
��� �
�� #�$%�

&�
� 	����� �� ���� A1� B4

E (ηjT (z1)− ηjT (z2))
2

= d−2
jT (θ)

∫ T

0

∫ T

0

B(t− s) (gj(t + z1, θ)− gj(t + z2, θ))

× (gj(s + z1, θ)− gj(s + z2, θ)) dt ds

≤ d−2
jT (θ)

∫ T

0

∫ T

0

|B(t− s)| (gj(t + z1, θ)− gj(t + z2, θ))
2

dt ds

≤ ‖B‖1d−2
jT (θ)ΨjT (z1, z2; θ) ≤ cj(θ)‖B‖1|z1 − z2|2,

z1, z2 ∈ [0, H ]� j = 1, . . . , q� ‖B‖1 =
∫∞
−∞ |B(t)| dt < ∞�

'� ���
��� (� ‖ηjT ‖ D→ ‖ξj‖� j = 1, . . . , q� 
 � ����� AB ��������� (� ‖∑3T ‖ P→ 0�
T →∞�



�� �� �� ������ � 	� 	� 
��	��
���

������� �	�
�	� �
�� Σ4T (z)� z ∈ [0, H ]� 	������	 �����
 �������	�(
T−1

∫ T

0

ε2(t) dt

)1/2
Dij,T+H(T + H)1/2

di,T+H(θ)dj,T+H(θ)
T 1/2

(T + H)1/2

(
di,T+H(θ)

diT (θ)

)(
dj,T+H(θ)

djT (θ)

)
×

∣∣∣diT (θ)
(
θ̂iT − θi

)∣∣∣ ∣∣∣T−1/2djT (θ)
(
θ̂jT − θj

)∣∣∣ P→ 0, T →∞,

�
����� 
�	�
� A1� AB� B1� B2� �
��� ���	�� ‖∑4T ‖ P→ 0� � ���
 �	�����	� �

�� �������

���
� g(t, θ) = A cosϕt + B sinϕt� θ = (θ1, θ2, θ3) = (A, B, ϕ) ∈ Θ� ����	�
 Θc �
�	��
���
 �����	 ��
 ��	 ��� (0,∞)3� !
��	 d2

1T (θ)� d2
2T (θ) = T

2 +O(1)� d2
3T (θ) =

A2+B2

6 T 3 + O(T 2)�
" 
�	�� B1(i) �	 �
 ����� G1(t) = G2(t) = 1� G3(t) = (A+B)t� �� A � B � ������

#�
���� ��
���$ �
�
������ A � B� �	�� D2
1T = D2

2T = T � D2
3T = (A+B)2

3 T 3� � ��
%
���	� &	 
�	�
 B1(i) ���	�
�	� "��	�
��� B1(ii) 	������	�
�
�	 	������	� &	 g11 = g22 = g12 = 0� g13 = −t sinϕt� g23 = t cosϕt� g33 =

−At2 cosϕt − Bt2 sinϕt� G13(t) = G23(t) = t� G33(t) =
(
A + B

)
t2� D2

13,T = D2
23,T =

T 3

3 � D
2
33,T = (A+B)2

5 T 5� � �	�


D2
j3,T

djT (θ)d3T (θ)
= O(T−1/2), j = 1, 2, 3,

�	%�	 ���	�
�	 
�	�
 B2�
���
 �	 ��	�
���� '����� �
�����
�� ()� **+,� &	 -
����. g1� g2� g3 �
��$ 	��


� �
 �
�
 
�	��
 ������
�$�
 ���
 μ(dλ) �
�
� &	 μ({±ϕ}) = 1/2� �
��� ���	��

�	�
 B3 ���	�
�	�
/

�
 ��	� &	 � �$	�
 �����
�� ��� f(ϕ) �= 0

Bj(z) = 2π

∫ ∞

−∞
cosλzf(λ)μ(dλ) = 2πf(ϕ) cosϕz, j = 1, 2, 3.

0� 	��
�
�� &	 #�
����� ��	���� ξj(z)� z ∈ [0, H ]� � ���
��	���� #
��	�������
�	���
������ 
 �
��1 ξj(z) = ηj cosϕz + ζj sin ϕz � �� ηj � ζj � ���
�� �� N(0, 2πf(ϕ))
���
��	�� ���������
2��������	 ���	�
��� 
�	�� B4� 3�� j = 1, 2 �� 	������	� ���
� z2 > z1� �	��

|g3(t + z1, θ)− g3(t + z2, θ)| = |g′3(t∗, θ)| · |z1 − z2|,
�� t∗ = t + z1 + ν(z2 − z1) ≤ t + H � ν ∈ (0, 1)� � ����� ����	� !
��	

g3(t, θ) = −At sin ϕt + Bt cosϕt,

c|g′3(t∗, θ)|2 = |−A sin ϕt∗ −Aϕt∗ cosϕt∗ + B cosϕt∗ −Bϕt∗ sinϕt∗|2

≤ (A + B)2(1 + ϕH + ϕt)2,

� �	�


d−2
3T (θ)Ψ3T (z1, z2; θ) ≤

(
1 + O

(
T−1

))−1
(

2ϕ2(A + B)2

A2 + B2
+ O

(
T−1

)) |z1 − z2|2.

4	�	 
�	�� AB� �	 
�����	����
 �	��
�$����$ �	��	�
�	. 	����� �
����5��
��
��
��� dT (θ)(θ̂T−θ) ��� ���#	�	�������	. -
����. ��#����. 	����
�	� �
�����
��
� �	%	�
� (**� *6+�
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